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Explain difference between image control and

picture control.

U dold U4 fQdaR dgld A fax &1
LRI

8. Explain in details about Menu creation in VB.

fagera dfe A 99 991 @ fay fawga o
ARAT I |

OR (3121a1)

What are the various graphic controls available in

VB ? Explain their use in animation creation.

fagera Ifte A dige faf= s sgia
T 2 | T 991§ sEDT STANT B
AT N |

9. How control array is created and used ? Explain
with code. 8
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Visual Basic

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3721d1) (i)
How 1D Array is created in VB ? Explain with
suitable example.
favparar aRe § AMgodlo W B g77aT 2|
STERUT & GTT GHIIU | (iii)
What are the data-bound controls ? Explain in brief.
4
STel 418S dold T 8 ? gHsisy |
(iii)
OR(3721dT)

How timer control is used in VB, Explain with

suitable example ?

fagera dfie # TISAR Fgid &1 ST

»d fear Sirar 2 | 9IeeReT ARAr Y | w

Differentiate option button and check Box button 4.

Y gc- Ud ddb diag de- A Fd¥ gdrd |
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fr=ferfRaa § &9 a1 a8er sl dfe
ATgeH b XA o forw foar smar 2 1
(31) Addlist

(9) List

(|) Additem

(%) Additon

The .ooovvveene. control is used for accepting
multiple lines of standard text with a scroll
bar.

(a) Frame area

(b) Text area

(c) Multiline area

(d) Label area

....................... Held oI SYINT H- D
CHRC P d98d UR g bl R
& @ fog foear smar 21

(31) Frame area

(9) Text area

(|) Multiline area

(?) Label area

A web browser control can accept ...............
targets by default.

(a) Copy and paste shortcuts

(b) Cut and paste shortcuts

(c) Drag and drop shortcuts

(d) Select and deselect shortcuts

P.T.O
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Answer all Five Questions.

(@) niudts fasrs

(@) sewEiere fasia
(\) »rs fasia

(]) er3ed IR

GROUPB

4x5=20

Il ufg 9o & SR < |

2.

Compare Active x controls Vs ordinary window
control.

4
Active x controls 31X Ordinary window control

H o N |

O0Te6016

(vi)

(vii)

(vii)

(viii)

5 18603

foa fhas &1 Sy fagpera 4R
Jfsside & s=cig §9111 & feou foar
ST 2 |

(31) Constructor

(9) Preprocessor

(|) Destructor

(%) Intermediate

........................ array site always remains the
same.

(a) Fixed site

(b) Dynamic

(c) Preserve

(d) Multidimension

................ O 1SS AT FHIF &l 2 |
(31) fhaas ArE

(@) srEAS

(@) fusia

(EGASERENER]

...................... occurs when the user presses
my mouse.

(a) Mouse up

(b) Mouse right

(c) Mouse down

(d) Mouse left

P.T.O



O'Ld

Teq opiL (P)

mopuim 3po) (9)

mopurm djerpaunduy (q)

mopuim sanadoiq ()

: oyy ur sxeadde sAem[e oweu uornjeorjdde oy,

JUSUWIUOIAUS 1UoWdO[9ASD PAIRISANUL UY ()

1003 Judwdgeuew 103[01d dremyjos vy (&)
o3en3ue]

QUIYOBU J0J JUSWUOIAUD JUSWdO[aAp V (k)

ostdrayus Juswdoraasp juspuadapuy (ie)

— 2 4dl

JUSWUOIIAUD JudwdO[oAdp pIjeIdaul uy (p)

[003 Judwdgeuew 103[01d dremiyos v (9)
o3en3ue]

quIYOBW JOJ JUSWUOIIAUD Judwdo[aAdp Vv (q)

osudigud Juswdo[aAap juspuadapug ()

- STHAI

() orowansIT ()

() 1eas17 ()

() 19pIsIT (k)

()87 (k)

I8

IBlis 1k@) MY @ Ll2ly B b th e
b23lle 1218 lr|Rh® 1 klabdy =T

£€0981 I

(xx)

(x1%)

(x1%)

(1m1ax)

9109LO

sd (P)
64 (9)
z1(@)
LA (e)
‘weadoxd o1seq [BNSIA JO UOINIIXD

.IOJ pssn 1{9}1 1n0110qs SI ...................... Ql{l

Belp ShE (2)

ReR (k)

tlh (B)

@ L2b Slhe (k)

K

DRIBR BRG] k2R SRk DRIR|L]

X0q 1xa, (P)

1297 (9)

utiog (q)

uoynnq puewwo)) (8)

................ M PajeIoosse
SI JUOAD PBO[ AU} ‘g A UI SJUSAS ) Suowry

2hP Bolk (»)

kol holk (B)

231 holk (B)

hie holhk (i)

12 1D2b RA Db

Rl Mok bin | @ DR

9109.LO 9

)

(x1)

(x1)



(xvii)
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(xviii)
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................ Hers & SYAIT ST d9fad
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(@1 fevwt

(@) ufeea

() sss

(%) Enabled

All the controls in an array will have the

(a) Value

(b) Properties
(c) Address
(d) Location

Y wele WA IR B 2B |
(31) Value

(9) Properties

(|) Address

(?) Location

..................... function is used to delete all the
data items completely.

(a) List ()

(b) Listdel ()

(c) Listclear ()

(d) Listremove ()

O0Te6016

x)

(xi)

(xi)

(xii)
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................ 9id goll faspaera e g
B W B B forg foram smar 2

(31) F7

(@) F2

(®|) F9

(]) F5

In VB the main form consist of more than
one sub form, it is called

(a) Subordinate

(b) Child

(¢) Super

(d) Second level

VB. # ®gdmar 8 ... ST TP 9@
fre B wid | 991 Bar 2 |

(31) w9 siffeqe

(@) arsTs

(@) Y

(2) dovs Add

Which of the following keyword is used to
declare the variable in visual basic ?

(a) Int

(b) Dim

(c) Else

(d) Declare

P.T.O
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10.

Held W DA 91T ST & Ud Sadl SUIIT |
IAD! ATET B & ATA W |

OR (3121d1)
Explain procedures in VB, with suitable example.

fagara afe #§ yIiioR @) = wierERe
aY |

What are the advantages of ADO Data control ?
Explain different object of ADO model.
8

ADO STeT ®gld &1 FIT BIIel 82 ADO Afsd
@) fagrudarel &) aarear & |

OR (3121an)

Explain create, insert and update records in data
base in VB.

fagera 9fi® @ create, insert T update BT
STEY 9 SYAIRAr &1 ar=m & |

P.T.O
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10.

Held O D §91IT ST 8 Ud SHbT SYIIT |
D] AT BlIs D A1 BN |

OR (312141)
Explain procedures in VB, with suitable example.

fagara afie A yIfioR @) = |ierEve
& |

What are the advantages of ADO Data control ?
Explain different object of ADO model.
8

ADO STeT ®eld &1 T BIIsl 82 ADO Afsd
P faryar & arear & |

OR (3121d1)

Explain create, insert and update records in data
base in VB.

fageral 9ffi® @ create, insert ¥ update BT
STHY d IUIIRIAr &1 ar=m & |
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